VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME : Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Progra	hon ammin g	Progra	hon ammin ract.)	Da Struc		Struc (Pra	act.)	Netw	puter /orks	Netw	act.)	Manao t Sys	tems	Manao t Sys	tems	Mathe		Progra g Pra		Total Marks		Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75		SEE 20/50					
1	SBSCIT22027	/ KASBE PRASHALI BALU PRACHITA		\$30	0.0	\$20	\$10	\$30	0,0	\$30	\$10	\$30	0.0	\$20	\$10	\$30	0.0	\$20	\$10	12	0,0	\$21	293	80	18		F
2		/ KAVANDAR ARUNA PARSURAM AMSAVENI	\$10	\$30		\$28	\$14	\$56		\$40	\$17	\$30		\$22	\$10	\$30		\$25	\$24	AB		\$20	356	106	18		F
3	SBSCIT22031	KHAN MOHAMMED UMER MULLANA HASAN	\$10			\$22	\$10			\$34	\$11	\$36		\$20	\$10	\$30		\$42	\$14			\$22					F
4	SBSCIT22032	KHAN MOHSIN REHMAT PARVEENBEGUM	\$10	12		\$26	\$10	\$30		\$24	\$11	\$30		\$24	\$10	\$35		\$29	\$14	\$30		\$20	315	88	18		F
5	SBSCIT22040	MAHTO ANUBHAV TARKESHWAR NIRMLA	\$11	\$30		\$42	\$10	\$30		\$49	\$13	\$30		\$44	\$10	\$31		\$26	\$11	49		\$22	408	128	20	6.40	В
6		/ MOHITE KRUTIKA RAHUL DEEPALI	\$10	15		\$20	\$10	\$30		\$34	\$16	\$30		\$20	\$10	\$30		\$20	\$21	\$30		\$26	322	90	18		F
7	SBSCIT22048	NATH AYUSH JOYDEV APARNA	\$10	9		\$27	\$10	\$30		\$38	\$10	\$30		\$30	\$10	\$30		\$36	\$15	30		\$25	340	110	18		F
8	SBSCIT22058	SHAIKH ABDUL GAFOOR SHABBIR RIZWANA	\$11	\$30		\$25	\$10	\$41		\$42	\$10	\$30		\$20	\$10	\$30		\$34	\$17	2		\$24	336	102	18		F
9	SBSCIT22060	/ SHAIKH AYESHA YOUNUS JAITUN	\$10	\$30		\$38	\$10	\$30		\$40	\$12	\$30		\$20	\$10	\$30		\$25	\$10	\$30		20	345	106	20	5.30	С

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Pyt Progr	thon ammin g	Pyt Progr	hon ammin Pract.)	Da	ata		ata ctures act.)	Com Netw	•	Netv	puter vorks act.)		ating ems	Syst	rating tems act.)	App Mathe		Mo Progra g Pra	ammin	Total Marks		Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75		SEE 20/50					
10	SBSCIT23001	ADHIKARI ANUJ NARAYAN MANJU	\$24	\$45		\$44	\$23	\$40		\$40	\$14	\$50		\$31	\$18	\$51		\$39	10	44		\$35	508	168	20	8.40	A
11	SBSCIT23002	/ AGHARIA MOHAMMED MEHDI SHABBIR HUSSAIN SUGRABEN	\$23	\$30		\$45	\$23	\$30		\$27	\$15	\$40		\$32	\$15	\$30		\$43	10	40		\$44	447	148	20	7.40	B+
12	SBSCIT23007	BALMIKEE ANISH RAJESH SUNITA	\$19	\$30		\$22	\$19	30		\$20	\$18	\$38		\$36	\$14	\$37		\$34	10	30		\$25	382	116	20	5.80	С
13	SBSCIT23009	/ BAVKAR SHRAVANI JITENDRA JYOTI	\$23	\$30		\$40	\$20	\$30		\$26	\$19	\$30		\$42	\$14	\$30		\$44	\$14	30		\$46	438	142	20	7.10	B+
14	SBSCIT23010	BHAREKAR SURAJ VILAS SARIKA	\$16	\$30		\$23	\$23	\$37		\$20	\$15	\$33		\$34	\$14	\$30		\$40	10	30		\$20	375	114	20	5.70	C
15	SBSCIT23013	CHAUHAN HARIOM SHYAMNARAYAN ASHADEVI	\$21	\$30		\$38	\$20	\$30		\$20	\$17	\$38		\$34	\$15	\$41		\$45	10	30		\$25	414	134	20	6.70	В
16	SBSCIT23014	CHAURASIYA SATYAM LAVKUSH SUNITA	\$23	\$30		\$48	\$21	\$30		\$43	\$21	\$44		\$36	\$12	10		\$43	10	11		\$45	427	138	16		F
17	SBSCIT23015	CHAURE VINOD LAXMAN NAKUSHA	10	\$33		\$33	10	30		\$20	10	\$30		\$31	10	\$30		\$41	10	30		\$27	355	112	20	5.60	С
18	SBSCIT23017	DALMEDA AARAV SURAJ FLAVIA	10	8		20	10	11		20	10	30		20	10	30		20	10	30		20	259	64	16		F
19	SBSCIT23018	DESHMUKH HARSHAD BHARAT VARSHA	\$23	\$34		\$30	\$19	\$30		\$39	\$16	\$38		\$36	\$14	\$37		\$48	10	42		\$43	459	152	20	7.60	B+
20	SBSCIT23019	DEVENDRA RONAK KALIAPPAN RADHA	\$20	\$43		\$50	\$24	\$31		\$34	\$21	\$33		\$37	\$16	\$44		\$43	10	31		\$40	477	160	20	8.00	A
21	SBSCIT23020	DHANGAR HARISH SHIVALINGA SUJATA	\$20	\$32		\$21	\$19	30		\$20	\$14	\$30		\$31	\$12	\$39		\$30	10	31		\$22	361	106	20	5.30	С
22	SBSCIT23021	DHERE ARYAN MAHESH UMA	\$21	8		\$34	\$19	30		\$22	\$13	\$30		\$35	\$10	\$30		\$42	10	15		\$42	361	108	16		F
23	SBSCIT23022	GOUD ROHAN SHIVSHANKAR NILAM	\$21	\$30		\$43	\$20	30		\$22	\$12	\$35		\$36	\$12	\$30		\$20	10	17		\$45	383	116	18		F

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Progra	thon ammin g	Pyt Progr	thon ammin Pract.)		ata ctures		ata ctures act.)	Com Netw		Netw	puter vorks act.)	Oper Syst	U	Syst	rating tems act.)	App Mathei		Mo Progra g Pra	ammin	Total Marks		Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	IA 0/0	SEE 20/50					
24	SBSCIT23025	/ GUPTA MANISHA SUNIL SHEELA	\$12	\$33		\$48	\$24	\$32		\$47	\$17	\$36		\$36	\$19	\$40		\$22	\$10	31		\$30	437	140	20	7.00) B+
25	SBSCIT23026	GUPTA NIKHIL LALLAN REETA	\$19	30		\$31	\$19	30		\$20	\$12	\$30		\$32	\$14	\$34		\$36	10	6		\$25	348	108	18		F
26	SBSCIT23027	/ GUPTA PRIYANKA RAMPRAKASH GAYATRI	\$16	\$31		\$23	\$24	\$30		\$20	\$13	\$36		\$39	\$14	\$35		\$33	\$10	32		\$20	376	110	20	5.50	C C
27	SBSCIT23029	/ GUPTA ROSHNI KUMARI SRI BHUSHAN POONAMDEVI	\$19	\$33		\$33	\$22	30		\$21	\$12	\$30		\$34	\$12	\$57		\$31	10	38		\$25	407	126	20	6.30) B
28	SBSCIT23031	GUPTA SABHAJEET SHRIRAM MALTIDEVI	\$21	\$31		\$50	\$21	30		\$37	\$15	\$30		\$36	\$12	\$37		\$42	10	35		\$34	441	146	20	7.30) B+
29	SBSCIT23032	GURAV SHREYAS PRAKASH PRIYANKA	\$20	\$34		\$45	\$23	\$41		\$49	\$18	\$41		\$37	\$17	\$45		\$50	\$10	47		\$46	523	170	20	8.50) A
30	SBSCIT23034	/ JADHAV KOMAL KIRAN URMILA	\$24	\$48		\$49	\$24	\$39		\$42	\$19	\$34		\$37	\$18	\$33		\$50	10	\$30		\$46	503	164	20	8.20) A
31	SBSCIT23036	KALAL MOHAMMAD ARBAZ AYUB SHANAZ	\$19	31		\$45	\$19	\$30		\$21	\$14	\$30		\$34	\$14	\$30		\$27	\$10	30		\$29	383	116	20	5.80) C
32	SBSCIT23037	KASHTE VEDANT MILIND SAYLI	\$21	\$30		\$38	\$19	30		\$20	\$12	\$30		\$34	\$12	\$30		\$26	\$10	30		\$29	371	114	20	5.70) С
33	SBSCIT23038	/ KAVANDAR ABINAYA PARSURAM AMSAVENI	\$18	\$30		\$46	\$21	\$49		\$27	\$11	\$34		\$29	\$18	\$44		\$35	\$10	30		\$45	447	146	20	7.30) B+
34	SBSCIT23039	KHAN ABDULLAH MOTIN AFSHANA	\$24	\$30		\$22	\$21	\$30		\$20	\$11	\$30		\$31	\$14	\$30		\$44	10	18		\$20	355	100	18		F
35	SBSCIT23042	KHAN MOHAMED OWAIS MOHAMED AYUB GAZALA	\$20	\$30		\$45	\$21	\$30		\$20	\$16	\$34		\$36	\$15	\$36		\$44	10	30		\$25	412	134	20	6.70) B
36	SBSCIT23043	KHAN MOHAMMAD ASAD ABDUL LATIF SABIRA	\$20	\$30		\$41	\$19	\$30		\$20	\$14	\$30		\$34	\$12	\$30		\$20	10	30		\$23	363	108	20	5.40) C
37	SBSCIT23044	/ KHAN SARA JAVED NAZNEEN	\$20	\$36		\$45	\$20	\$44		\$40	\$20	\$53		\$47	\$19	\$36		\$30	\$10	30		\$45	495	166	20	8.30) A

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Pyt Progr	hon ammin g	Pyt Progr	hon	,	ata etures	Struc	ata ctures act.)		puter vorks	Netv	iputer vorks act.)	Opei Syst	rating tems	Sys	rating tems act.)		olied matics		bile ammin actical	Total Marks		Credits Earned		A Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
38	SBSCIT23045	KHAN UZAIR SHAKIL AHMED RUBINA	\$16	\$30		\$44	\$19	\$30		\$24	\$15	\$38		\$36	\$16	\$30		\$25	10	30		\$26	389	122	20	6.10	ОВ
39	SBSCIT23046	KHAN ZAID JAVED NAZNEEN	\$22	\$33		\$49	\$20	\$31		\$47	\$13	\$39		\$36	\$14	\$33		\$23	10	\$36		\$45	451	146	20	7.30	0 B+
40	SBSCIT23047	/ KHARSEKAR KOMAL ANKUSH KISHORI	\$22	\$30		\$40	\$22	\$30		\$37	\$16	\$31		\$33	\$12	\$30		\$32	\$10	32		\$30	407	136	20	6.80	ОВ
41	SBSCIT23048	/ LAD HARSHITA SACHIN SHRADDHA	\$24	\$35		\$45	\$19	\$43		\$27	\$20	\$46		\$38	\$19	\$47		\$48	\$10	44		\$36	501	162	20	8.10	A C
42	SBSCIT23049	/ MADANIYA ABBASALI MUJAHIDALI NASEEMBANO	\$19	\$30		\$33	\$19	\$30		\$47	\$19	\$36		\$42	\$16	\$31		\$48	\$10	30		\$33	443	144	20	7.20	0 B+
43	SBSCIT23050	MAHALE PAVAN RAMESH SEEMA	\$22	\$30		\$38	\$22	\$33		\$44	\$16	\$35		\$36	\$12	\$38		\$49	\$10	30		\$44	459	154	20	7.7(0 B+
44	SBSCIT23051	MAHARANA VIVEK PRABHAKAR MAMURI	\$20	\$30		\$45	\$20	\$34		\$25	\$20	\$38		\$36	\$12	\$31		\$23	10	36		\$34	414	132	20	6.60	ОВ
45	SBSCIT23052	MALIK SUMAN BACHHU SANDHYA	\$22	\$30		\$23	\$19	\$30		\$31	\$11	\$30		\$36	\$15	\$32		\$48	\$10	30		\$25	392	124	20	6.20	ОВ
46	SBSCIT23053	MANDAL SACHIN SHANKAR RANJU	\$22	\$30		\$50	\$25	\$46		\$50	\$20	\$38		\$36	\$19	\$33		\$41	\$10	31		\$49	500	162	20	8.10	A C
47	SBSCIT23054	MANDAVKAR HARSH MAHESH MADHAVI	\$19	\$30		\$43	\$19	\$30		\$25	\$19	\$44		\$36	\$10	\$42		\$39	\$10	33		\$37	436	142	20	7.10	0 B+
48	SBSCIT23055	MANSOORI MOHD FAIYZAN HAROON RAZIA	\$20	33		\$50	\$21	30		\$20	\$13	\$30		\$36	\$12	\$30		\$22	10	12		\$26	365	106	18		F
49	SBSCIT23056	MANWAR RAVIKIRAN UTTAM PUSHPA	\$11	10		\$33	\$12	15		\$20	\$19	30		\$31	\$12	AB		\$20	10	30		\$34	287	82	14		F
50	SBSCIT23058	MHAMUNKAR BHAVESH VILAS PRAGATI	\$23	\$30		\$48	\$24	\$54		\$47	\$11	\$30		\$36	\$16	\$30		\$27	10	30		\$35	451	144	20	7.20	0 B+

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Pyt Progr	thon ammin g	Pyt Progr	hon		ata	Struc	ata ctures act.)	Com Netw		Netv	puter vorks act.)		ating ems	Syst	rating tems act.)		olied matics	Progr	bile ammin actical	Total Marks		Credits Earned	SGPA	A Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
51	SBSCIT23060	MOTORWALA ABDAAR FAIYAZ ALMAS	\$24	\$30	0,0	\$45	\$20	30	0.0	\$42	\$15	\$43	0.0	\$36	\$15	\$34	0,0	\$49	\$10	30	0,0	\$36	459	152	20	7.60	0 B+
52	SBSCIT23064	/ PATEL ALFIYA YASIN AASMA	\$23	\$36		\$50	\$19	\$37		\$32	\$14	\$46		\$36	\$18	\$49		\$42	\$17	36		\$46	501	166	20	8.30) A
53	SBSCIT23065	PAUDEL NAVEEN KHAGESHWAR PARWATA	\$19	\$30		\$33	\$21	\$30		\$23	\$18	\$31		\$34	\$14	\$35		\$45	\$10	30		\$20	393	120	20	6.00) В
54	SBSCIT23068	/ QURESHI SAMIYA NIKHAT ISMAIL	\$23	\$30		\$48	\$21	\$30		\$47	\$19	\$40		\$36	\$18	\$30		\$42	10	30		\$40	464	154	20	7.70	0 B+
55	SBSCIT23072	SAH PRIYANSHU RAMPRAVESH PINKYDEVI	\$23	\$42		\$50	\$22	\$30		\$47	\$18	\$41		\$38	\$18	\$30		\$35	\$10	30		\$50	484	156	20	7.80	0 B+
56	SBSCIT23073	SAH RITIK RAM MEENA DEVI	\$23	\$43		\$50	\$21	\$35		\$46	\$16	\$37		\$36	\$18	\$33		\$41	\$10	30		\$44	483	160	20	8.00) A
57	SBSCIT23074	SAKPAL YASH SANJAY SUNITA	\$22	\$30		\$41	\$19	19		\$22	\$18	\$32		\$34	\$12	\$30		\$28	10	16		\$24	357	100	16		F
58	SBSCIT23075	SARFARAZ AALAM MOJIBUR REHMAN SAJEDA KHATOON	\$18	\$49		\$50	\$24	\$30		\$44	\$13	\$41		\$36	\$15	\$30		\$28	\$10	31		\$45	464	150	20	7.50	0 B+
59	SBSCIT23078	SAYED MOHD YOUSUF MOHMED MUSA RAZIYA	\$24	\$30		20	\$20	24		20	\$12	\$30		20	\$12	\$30		20	10	16		20	308	68	16		F
60	SBSCIT23082	/ SHAH KAJAL KAPIL USHA	\$24	\$51		\$41	\$24	\$43		\$20	\$23	\$55		\$34	\$16	\$35		\$44	10	\$30		\$41	491	156	20	7.80	0 B+
61	SBSCIT23084	SHAIKH ABDUL RAHIM USMAN SHAMIM	\$18	\$37		\$45	\$20	\$46		\$42	\$13	\$48		\$36	\$10	\$47		\$28	10	\$30		\$45	475	160	20	8.00) A
62	SBSCIT23090	SHAIKH MOHAMMED AHMED ABDUL BADSHAH SHAHNAZ BEGUM	\$18	\$30		\$48	\$21	\$30		\$45	\$17	\$35		\$36	\$10	\$31		\$21	10	30		\$45	427	136	20	6.80) B
63	SBSCIT23091	SHAIKH MOHAMMED FURKHAN IKRAMUDDIN RUKSANABAGUM	\$23	\$30		\$45	\$20	\$30		\$27	\$16	\$37		\$36	\$12	\$38		\$20	10	30		\$39	413	132	20	6.60	DВ
64	SBSCIT23093	SHAIKH MOHD ANAS HAFIZ ZAHID ALI NASRUN BANO	\$18	\$32		\$45	\$21	\$39		\$20	\$16	\$56		\$20	\$14	\$39		\$25	\$10	36		\$34	425	132	20	6.60	ОВ

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Pyt Progr	thon ammin g	Py Progr	thon	Da	ata ctures	Strue	ata ctures act.)		puter vorks	Netv	iputer vorks act.)		rating tems	Oper Syst (Pra		App Mathe		Progr	obile ammin actical	Total Marks		Credits Earned		Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	IA 0/0	SEE 20/50					
65	SBSCIT23095	/ SHAIKH SAIBA ZAHEER AHMED ANJUM	\$24	\$52		\$50	\$23	\$34		\$34	\$15	\$45		\$36	\$14	\$34		\$28	\$10	30		\$45	474	154	20	7.70) B+
66	SBSCIT23096	SHAIKH ZUHAYR MOHAMMED IDRIS ALIYA	\$23	\$30		\$41	\$19	\$36		\$20	\$20	\$44		\$36	\$12	30		\$41	10	11		\$45	418	136	18		F
67	SBSCIT23097	SHARMA RAUNAK JADDUPRASAD REKHA	\$15	\$30		\$45	\$20	\$39		\$23	\$17	\$54		\$46	\$12	\$31		\$33	\$10	37		\$46	458	146	20	7.30	B+
68	SBSCIT23098	SHEGAR ROSHAN KISAN RUPALI	\$24	\$30		\$25	\$19	\$30		\$29	\$16	\$56		\$20	\$12	\$32		\$43	10	\$30		\$24	400	120	20	6.00) B
69	SBSCIT23099	SHEIKH SHARIKH HAMIDULLA RIZWANA	\$19	39		\$33	\$20	\$30		\$23	\$11	\$49		\$33	\$14	\$30		\$20	10	31		\$34	396	124	20	6.20) В
70	SBSCIT23100	SHELIYA ZAQVAN NAIYUM ANISA	\$21	32		\$28	\$19	30		\$37	\$11	\$35		\$34	\$14	34		\$25	10	30		\$44	404	130	20	6.50) В
71	SBSCIT23101	SHINDE ROHAN SHIVAJI SANGITA	\$20	\$30		\$40	\$20	\$30		\$34	\$12	\$42		\$34	\$14	34		\$27	10	30		\$45	422	138	20	6.90) В
72	SBSCIT23102	/ SINDAGI SANIYA MADAR SHABANA	\$23	\$30		\$23	\$22	\$30		\$37	\$15	\$43		\$45	\$14	\$30		\$41	10	31		\$35	429	140	20	7.00) B+
73	SBSCIT23104	/ SINGH NISHAKUMARI NANDAN MALADEVI	\$18	\$30		\$33	\$20	\$36		\$21	\$20	\$49		\$36	\$12	\$30		\$37	\$10	34		\$41	427	136	20	6.80) В
74	SBSCIT23106	SOLANKI VINAY GIRDHAR SAVITA	\$17	43		\$45	\$20	\$32		\$43	\$17	\$50		\$36	\$12	\$30		\$22	10	33		\$24	434	136	20	6.80) В
75	SBSCIT23107	SONAWANE OM ASHOK MANDA	\$24	\$30		\$45	\$20	30		\$36	\$21	\$40		\$36	\$14	32		\$50	\$10	30		\$45	463	154	20	7.70) B+
76	SBSCIT23108	SUNASARA SAAD BILAL FIROZA	\$19	30		\$33	\$19	\$30		\$24	\$17	\$40		\$34	\$10	35		\$23	10	30		\$24	378	114	20	5.70) C
77	SBSCIT23109	/ SUNESARA NOVEE ALI HUSSAIN SUMAIYA	\$21	30		\$21	\$20	\$30		\$42	\$15	\$36		\$39	\$14	\$30		\$34	10	19		\$44	405	126	18		F
78	SBSCIT23110	/ THUKRUL SAKSHI GOPAL JYOTI	\$19	\$30		\$35	\$21	\$30		\$36	\$18	\$39		\$36	\$16	39		\$41	10	37		\$41	448	154	20	7.70) B+
79	SBSCIT23112	/ UDAIYAR AGALYA SEKAR CHITRA	\$19	\$30		\$35	\$21	\$30		\$26	\$12	\$44		\$35	\$12	\$30		\$27	10	30		\$25	386	124	20	6.20) В
80	SBSCIT23113	UTTEKAR ABHANG UMESH SHRADDHA	\$19	30		\$40	\$23	\$30		\$32	\$18	\$30		\$36	\$12	\$30		\$28	10	30		\$25	393	128	20	6.40) В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

PROGRAMME : Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION : March - 2024

Sr. No.	Seat No.	Name	Pyt Progra	hon ammin g	Pyt Progr g (P	hon ammin ract.)	Da Struc	ata tures	Struc (Pra	ata ctures act.)	Netv		Netv (Pra	nputer vorks act.)	Syst	rating tems	Syst (Pra	rating tems act.)		matics	g Pra	ammin ctical	Total Marks		Credits Earned		Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75		SEE 20/50					
81	SBSCIT23115	VERMA MAQLIN NANDLAL SHASHIKALA	\$23	\$30		\$50	\$22	\$34		\$37	\$15	\$55		\$36	\$18	\$45		\$33	\$10	36		\$33	477	158	20	7.90) B+
82		/ VISHWAKARMA KRISHNA PANKAJ SHILADEVI	\$20	31		\$43	\$19	\$30		\$42	\$12	32		\$35	\$12	30		\$20	10	15		\$30	381	120	18		F
83	SBSCIT23117	VISHWAKARMA PAWAN RAVISHANKAR VIMLA	\$21	\$35		\$43	\$20	\$50		\$25	\$15	\$44		\$36	\$14	\$30		\$36	\$10	36		\$28	443	146	20	7.30) B+
84	SBSCIT23118	WAGHMARE SWAPNIL SUNIL SUREKHA	\$20	\$30		\$23	\$19	\$30		\$20	\$13	\$46		\$34	\$10	30		\$20	10	14		\$24	343	96	18		F
85	SBSCIT23119	YADAV ADITYA RAJESH SHARMILA	\$23	\$30		\$45	\$24	\$30		\$32	\$14	\$43		\$36	\$18	37		\$35	10	30		\$45	452	152	20	7.60) B+
86	SBSCIT23120	/ YADAV ANJALI KAILASH LAXIMINA	\$20	57		\$50	\$24	\$56		\$33	\$19	\$41		\$38	\$14	\$43		\$49	\$11	\$30		\$44	529	170	20	8.50) A
87	SBSCIT23121	YADAV ANKIT INDRAJEET SUNITADEVI	\$21	\$33		\$46	\$20	\$49		\$47	\$14	\$46		\$37	\$14	38		\$36	\$14	\$31		\$43	489	162	20	8.10	A
88	SBSCIT23122	YADAV ANUJ KUMAR AKHILESH ANITA	\$23	\$30		\$40	\$20	\$30		\$35	\$14	\$37		\$36	\$15	\$30		\$33	\$10	6		\$35	394	136	18		F
89	SBSCIT23123	YADAV ARYAN MAHENDRA ANITA	\$18	\$31		\$45	\$20	\$30		\$25	\$17	\$48		\$37	\$12	\$30		\$29	10	19		\$24	395	120	18		F
90	SBSCIT23126	/ YADAV SURENDRA RAM NARAYAN INDRAWATI	\$18	33		\$45	\$19	30		\$20	\$12	\$39		\$36	\$10	\$30		\$20	10	16		\$24	362	106	18		F